H & 0l & At H A M

SN SUSSED
M ANPIRY|(SUFED)
Shol: D=3l (Sl &)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH Hws2
SIS 4 4,145,453 4,044,106 101,347
2 352,960 353,660 ATO0
7 180,000 180,000 0
= 427,699 427,699 0
2 3,184,794 3,082,747 102,047
HHSAYH|(SYSKLD) 33,042 3,000 £2,048
o=t 33,042 3,000 £2,048
Jl= | 33,042 35,00 £2,048
201 LBH2AL| 20,730 22,130 21,400
01 At2teld| 18,730 20,130 21,400
O gl 13,900 15,300 A1,400
0 ARIID| L SABE 10,600,002 10,600 2,000 A1,400
202 Od| 12,312 12,960 2648
01 =LHOIYI 12,312 12,960 2648
O TRICIHI(BSZYI)  171,0002+62 122 2,312 12,960 £648
s& olzigy 552, 180 554,480 £2,300
2 63,060 63,060 0
= 110,244 110,244 0
2 378,876 381,176 £2,300
sHH20E |4 235,900 238,200 22,300
2 15,900 15,900 0
= 40,560 40,560 0
2 179,440 181,740 £2,300
YsENDF2Y 54,300 56,600 £2,300
201 k2| 18,200 9,900 A1,700
01 ARt 17,450 19,150 A1,700
O gl 11,300 13,000 A1,700
0 MAZSEHDIDI  3,00023Z+900S 8,100 9,000 A0
0 GISEY =TSN
2,002 *2F+800% 3,200 4,000 2800
202 01t 11,400 12,000 AB00
01 =UHoTH| 11,400 2,000 AB00
O OlHl( SYRIAD48)
190, 0002501128 11,400 12,000 AB00
4HEIR S8 IHES 8,000 8,000 0
= 4,000 4,000 0
2 4,000 4,000 0
206 M= 4| 4,000 8,000 24,000
< 2,000 4,000 A2,000
2 2,000 4,000 £2,000
IET] 4,000 8,000 4,000
O 4-H3l2 BHEE N 4,000,002 4,000 8,000 £4,000
< 2,000 4,000 A2,000
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A sESE0
XMZEH: == oldxzAM
oS- TS

chel: =N |4 (EHel: &)
FA - B - GR(2) - MRAY - BES O &bl JIEH ] ImE=r4
= 2,000 4,000 22,000
307 212H01H 4,000 0 4,000
& 2,000 0 2,000
= 2,000 0 2,000
02 2IZHESAEE 4,000 0 4,000
O 4-Hald s&Hs A& 4,000,000& 4,000 0 4,000
& 2,000 0 2,000
= 2,000 0 2,000
HESIRESE(LAS)A 149,000 149,000 0
= 24,500 24,500 0
& 50,000 50,000 0
= 74,500 74,500 0
das Ag2elXz 9,000 9,000 0
= 4,500 4,500 0
= 4,500 4,500 0
201 2eH2EY| 6,000 2,000 4,000
= 3,000 1,000 2,000
= 3,000 1,000 2,000
01 AFR2te|Y| 6,000 2,000 4,000
O ZassdAgzeid =5 7
200,0003*105 2,000 2,000 0
= 1,000 1,000 0
= 1,000 1,000 0
O ZasEENHSAHIXE 4,000,000& 4,000 0 4,000
= 2,000 0 2,000
= 2,000 0 2,000
202 04l 3,000 7,000 24,000
= 1,500 3,500 22,000
= 1,500 3,500 22,000
01 =LHO4LI 3,000 7,000 24,000
O ZisAgae] & 2E8 N
100,000 +10E 32 3,000 7,000 24,000
= 1,500 3,500 22,000
[ 1,500 3,500 22,000
Y=SH MEFY 338,498 338,820 N322
= 50,000 50,000 0
& 36,000 36,000 0
= 252,498 252,820 N322
USE Al 338,498 338,820 N322
= 50,000 50,000 0
& 36,000 36,000 0
= 252,498 252,820 N322
TRy Jal N b 142,498 142,820 N322
202 04l 8,878 9,200 N322
01 =LH04HI 8,878 9,200 N322
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SA:

SHER
HE: PREX HARY
SH9l: DEE DA (Sl ER)
SA - BB CRI(3)) - MIRAIY - BYS O b plb-E HlImE==T
O OOl I8 geig)
193,00024#4Q1 11,52 8,678 9,200 £322
SEME TR A 568,557 568,917 2360
2 53,450 53,450 0
X 50,000 50,000 0
= 97,1% 97,1% 0
2 367,912 368,272 A360
ME 2SI 242,860 243,220 A360
= 25,000 25,000 0
X 50,000 50,000 0
= 5,920 5,920 0
2 161,940 162,300 A360
Ol 520l R82Y 59,260 59,620 A360
202 048 6,840 7,200 A360
01 =UH0iH 6,840 7,200 A360
SN TECEEL R
190, 00021301122 6,840 7,200 A30
NEEESTBIES 402,374 40,434 A1,060
= 51,250 51,950 ATO0
< 5,750 5,750 0
2 345,374 5,734 A360
NEEEEISIESTEL 402,374 40,434 A1,060
= 51,250 51,950 ATO0
< 5,750 5,750 0
2 345,374 5,734 A360
DERSNSHATS 37,310 37,670 A360
202 048 6,840 7,200 A360
01 =UH0iH 6,840 7,200 A360
O Olbl(sefLeRas)
190, 00021301122 6,840 7,200 A30
YA ARY(VSYSH I SAIR) 24,500 25,200 ATO0
= 13,500 14,200 ATO0
2 1,000 11,000 0
206 =4I 2,500 3,200 AT700
2 2,500 3,200 ATOD
01 =8l 2,500 3,200 AT700
O WAS PEIZH ELBAME 2,500,000 2,500 2,200 300
= 2,500 2,200 300
O 2= NFTSAMY ESHAH) 02! 0 1,000 A1,000
2 0 1,000 A1,000
SEZAL 243 1,675,767 1,469,430 106,337
2 15,200 15,200 0
= 116,260 116,260 0
2 1,444,307 1,337,970 106,337
SIIHAE X 767,268 772,020 N4 752
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A sESE0
2 SESA 243t
Rl SIIAAME X2 (2l &)
SA - B - S9(3) - NRAY - BaS il &y plE-T HmE==!
= 15,200 15,200 0
o= 116,260 116,260 0
= 635,808 640,560 N4 752
SIHLUHAIE A RS 235,208 239,960 N4 T52
201 ZeH=2E| 79,528 83,560 24,032
01 At2teld| 43,648 47,680 N4,032
O get2dd| 40,848 44,880 N4,032
0 SIIHLUAIE A SSHI(AHS, =HN)
162, 000&*20H Ax 123 3,888 4,800 AN912
0 eHsSIIHEE I 176,000 *130CH 22,880 26,000 A3, 120
202 Oid| 13,680 14,400 AT20
01 WAL 13,680 14,400 AT20
O OHl(s=SAtgR")
190,000 +621+12& 13,680 14,400 AT20
sIHuESEAMS-I =X 86,320 86,320 0
o= 39,900 39,900 0
= 46,420 46,420 0
402 BI2tXH=01M 10,000 70,000 260,000
o= 5,000 35,000 A30,000
= 5,000 35,000 A30,000
01 QIZEIZAIE 2 10,000 70,000 260,000
O gsIIAStAE Mgt SIIHNR (=F-E
A0| 0 0 60,000 260,000
o= 0 30,000 230,000
= 0 30,000 230,000
405 XHAHESH| 60,000 0 60,000
o= 30,000 0 30,000
= 30,000 0 30,000
01 AL = ZF =] 60,000 0 60,000
O JHztsgdsd WsEH FHIXA
6,000,000 *10CH 60,000 0 60,000
o= 30,000 0 30,000
= 30,000 0 30,000
=E SAt 243} 808,499 697,410 111,089
SENZSEX & 2el 775,809 664,720 111,089
305 Hial=S 111,089 0 111,089
01 thalzs 111,089 0 111,089
SEIIZ2S SAUz E74s5 tlas
111,089,000 111,089 0 111,089
Heas(sgds41) 13,835 12,735 1,100
SHEXE 13,835 12,735 1,100
BrIpHE= 13,835 12,735 1,100
802 Btet=JIE 13,835 12,735 1,100
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25 sgs41
. WRES(sHs41)
&©e: BEXE

S - B SIE) - KIRAS - BES il arod
02 Al - SHIEXZBEZE
OXEZHSAESIAHKEAL 90,400
OsZElSsHHsEUSsESHY)
820,000
SIHUSESAY JSFLs =2
189,000&
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